	Gib die graue Fläche als Bruchteil an:

	Aufgabe für A
	Lösung für B
	Aufgabe für A
	Lösung für B

	
[image: image1.wmf]
	
[image: image2.wmf]

 EMBED Equation.3  [image: image3.wmf]4

1


	
[image: image4.wmf]
	
[image: image5.wmf]

 EMBED Equation.3  [image: image6.wmf]4

3



	
[image: image7.wmf]
	
[image: image8.wmf]

 EMBED Equation.3  [image: image9.wmf]6

1


	
[image: image10.wmf]
	
[image: image11.wmf]

 EMBED Equation.3  [image: image12.wmf]2

1

6

3

=



	
[image: image13.wmf]
	
[image: image14.wmf]

 EMBED Equation.3  [image: image15.wmf]8

1


	
[image: image16.wmf]
	
[image: image17.wmf]

 EMBED Equation.3  [image: image18.wmf]2

1

4

2

8

4

=

=



	
[image: image19.wmf]
	
[image: image20.wmf]

 EMBED Equation.3  [image: image21.wmf]4

3


	
[image: image22.wmf]
	
[image: image23.wmf]

 EMBED Equation.3  [image: image24.wmf]20

3



	
[image: image25.wmf]
	
[image: image26.wmf]

 EMBED Equation.3  [image: image27.wmf]9

1


	
[image: image28.wmf]
	
[image: image29.wmf]

 EMBED Equation.3  [image: image30.wmf]12

1



	
[image: image31.wmf]
	
[image: image32.wmf]

 EMBED Equation.3  [image: image33.wmf]9

2


	
[image: image34.wmf]
	
[image: image35.wmf]

 EMBED Equation.3  [image: image36.wmf]24

5



	
[image: image37.wmf]
	
[image: image38.wmf]

 EMBED Equation.3  [image: image39.wmf]2

1

4

2

=


	
[image: image40.wmf]
	
[image: image41.wmf]

 EMBED Equation.3  [image: image42.wmf]4

1



	
[image: image43.wmf]
	
[image: image44.wmf]

 EMBED Equation.3  [image: image45.wmf]4

3


	
[image: image46.wmf]
	
[image: image47.wmf]

 EMBED Equation.3  [image: image48.wmf]8

1



	
[image: image49.wmf]
	
[image: image50.wmf]

 EMBED Equation.3  [image: image51.wmf]8

2


	
[image: image52.wmf]
	
[image: image53.wmf]

 EMBED Equation.3  [image: image54.wmf]9

1



	
[image: image55.wmf]
	
[image: image56.wmf]

 EMBED Equation.3  [image: image57.wmf]3

1

9

3

=


	
[image: image58.wmf]
	
[image: image59.wmf]

 EMBED Equation.3  [image: image60.wmf]4

3

16

12

=



	Gib die graue Fläche als Bruchteil an:

	Lösung für A
	Aufgabe für B
	Lösung für A
	Aufgabe für B

	
[image: image61.wmf]

 EMBED Equation.3  [image: image62.wmf]2

1


	
[image: image63.wmf]
	
[image: image64.wmf]

 EMBED Equation.3  [image: image65.wmf]3

1


	
[image: image66.wmf]

	
[image: image67.wmf]

 EMBED Equation.3  [image: image68.wmf]3

2


	
[image: image69.wmf]
	
[image: image70.wmf]

 EMBED Equation.3  [image: image71.wmf]6

5


	
[image: image72.wmf]

	
[image: image73.wmf]

 EMBED Equation.3  [image: image74.wmf]3

2

6

4

=


	
[image: image75.wmf]
	
[image: image76.wmf]

 EMBED Equation.3  [image: image77.wmf]8

3


	
[image: image78.wmf]

	
[image: image79.wmf]

 EMBED Equation.3  [image: image80.wmf]2

1


	
[image: image81.wmf]
	
[image: image82.wmf]

 EMBED Equation.3  [image: image83.wmf]4

3

16

12

=


	
[image: image84.wmf]

	
[image: image85.wmf]

 EMBED Equation.3  [image: image86.wmf]4

3


	
[image: image87.wmf]
	
[image: image88.wmf]

 EMBED Equation.3  [image: image89.wmf]8

5

16

10

=


	
[image: image90.wmf]

	
[image: image91.wmf]

 EMBED Equation.3  [image: image92.wmf]8

3


	
[image: image93.wmf]
	
[image: image94.wmf]

 EMBED Equation.3  [image: image95.wmf]24

23


	
[image: image96.wmf]

	
[image: image97.wmf]

 EMBED Equation.3  [image: image98.wmf]4

1


	
[image: image99.wmf]
	
[image: image100.wmf]

 EMBED Equation.3  [image: image101.wmf]2

1


	
[image: image102.wmf]

	
[image: image103.wmf]

 EMBED Equation.3  [image: image104.wmf]2

1

4

1

4

3

+

=


	
[image: image105.wmf]
	
[image: image106.wmf]

 EMBED Equation.3  [image: image107.wmf]4

1


	
[image: image108.wmf]

	
[image: image109.wmf]

 EMBED Equation.3  [image: image110.wmf]8

5


	
[image: image111.wmf]
	
[image: image112.wmf]

 EMBED Equation.3  [image: image113.wmf]8

3


	
[image: image114.wmf]

	
[image: image115.wmf]

 EMBED Equation.3  [image: image116.wmf]9

2


	
[image: image117.wmf]
	
[image: image118.wmf]

 EMBED Equation.3  [image: image119.wmf]4

1

16

4

=


	
[image: image120.wmf]


_1185555538.vsd

_1185556929.unknown

_1185557221.unknown

_1185557660.unknown

_1185557915.unknown

_1185558034.unknown

_1185558396.unknown

_1185649986.unknown

_1185558162.unknown

_1185558160.unknown

_1185557916.unknown

_1185557941.unknown

_1185557781.unknown

_1185557829.unknown

_1185557844.unknown

_1185557803.unknown

_1185557779.unknown

_1185557780.unknown

_1185557778.unknown

_1185557344.unknown

_1185557396.unknown

_1185557659.unknown

_1185557375.unknown

_1185557285.unknown

_1185557300.unknown

_1185557241.unknown

_1185557058.unknown

_1185557152.unknown

_1185557153.unknown

_1185557150.unknown

_1185557151.unknown

_1185557059.unknown

_1185556943.unknown

_1185556960.unknown

_1185555795.vsd

_1185555947.vsd

_1185556011.vsd

_1185556065.vsd

_1185556159.vsd

_1185556837.unknown

_1185556137.vsd

_1185556153.vsd

_1185556130.vsd

_1185556020.vsd

_1185556060.vsd

_1185555993.vsd

_1185555999.vsd

_1185555965.vsd

_1185555972.vsd

_1185555954.vsd

_1185555873.vsd

_1185555925.vsd

_1185555932.vsd

_1185555879.vsd

_1185555838.vsd

_1185555846.vsd

_1185555815.vsd

_1185555653.vsd

_1185555749.vsd

_1185555771.vsd

_1185555788.vsd

_1185555766.vsd

_1185555720.vsd

_1185555728.vsd

_1185555742.vsd

_1185555678.vsd

_1185555706.vsd

_1185555700.vsd

_1185555660.vsd

_1185555673.vsd

_1185555593.vsd

_1185555625.vsd

_1185555637.vsd

_1185555599.vsd

_1185555566.vsd

_1185555576.vsd

_1185555546.vsd

_1185555200.vsd

_1185555307.vsd

_1185555404.vsd

_1185555477.vsd

_1185555507.vsd

_1185555498.vsd

_1185555433.vsd

_1185555469.vsd

_1185555426.vsd

_1185555337.vsd

_1185555372.vsd

_1185555395.vsd

_1185555363.vsd

_1185555313.vsd

_1185555327.vsd

_1185555257.vsd

_1185555288.vsd

_1185555279.vsd

_1185555222.vsd

_1185555228.vsd

_1185555249.vsd

_1185555206.vsd

_1185555063.vsd

_1185555152.vsd

_1185555178.vsd

_1185555184.vsd

_1185555160.vsd

_1185555134.vsd

_1185555128.vsd

_1185554858.vsd

_1185554903.vsd

_1185555057.vsd

_1185554894.vsd

_1185554828.vsd

_1185554851.vsd

_1185554793.vsd

